<

¢

8 z

h4 both st in Yhem v/
Yp= (Ax—i—B)c’.—x

- o (Ax—(—@)é”x’VAe‘x \ |

C e SRR I
u e "’("Ax—\—(A B\c‘XA—(——A) i o i |
Jt WA e = a iR N\ g

i Anr 7 g A SRl S PR SERSEN- 0/ 428 -

b = v oo L’———_—_‘——:—Zu‘\'

- 3 ‘(‘(Q'AXBP-XA’ L('-Bp‘xd: (X )

. 7Axe‘x+(—‘/—A+7 B)e"‘ %5 :22

R A=\ A-5 ~YA4378=2

B==(24+3%) = —L(lgjﬂg\\

(‘LHL& e X +eX(0 ()t Qz‘,,:(E Wy




eous 5ol

H)\moﬂe)n

24 =0%
o ‘, & ZA,_

gkom-c.e’WC

Pw&w\amo\

'j =Yg =sinx

‘jr A»s\hx +Bu:sAxﬂ :
5r 3 Aaxx—Bsmx e

3
¥o)

i
l
'
r

1
=

ik

> ‘jr“ = “Asinx — Boosx 3
g ( Asmx -Ba.sx) q'(AS\hX'*BLUX\

ﬂ’v &hx -_l-oo,s(Zx) ,.,-__-_:_,,_,__#,._.

(—4Asn(2 x ) ~Bees( 2x))

_=ShX

1 (=5A)sinx + (=5B)corx =simx
A

LK
=

e e ) (220

R - e

i

—z—x ke

) -‘hd EE)

JJ 7 ’A.Smlzx,) jw(zx)
L= 2A s (2x)—2Bsn(2x)
P‘_‘. E,:ﬁ_‘tAﬂan)_t‘tﬁ cos(2x)

=% (Asn(2x) #Bcos(2x)) = cosl2x)

| —%A=0 —gB=|

A=o

3 lyp = — %’S;hx_ S ‘-:3}?90{(_2%)
g G- e, 2
~ Yy=-—% sinX —groosiZ) e = +C, "%




n |
k- (
\3) 3\|4q_l‘i4q_“~xzﬁ-zx }z:
4 | J e
o 5%
(D L\olmgm\;c (D\h:
! 244, 494=0
h:" : [(LEP ) ED
| A % oy
{r- Yhon = Ch o =25 010 b S
<—‘ : ~
- | @ E’rs“-sk)ecs-‘ uJF.‘-‘ (A)$L+Bx+c')g~2
| = Aok Sl Porexid Co2> ———i
4 L_!
2 M ﬁ
2 Yp= ,Axge”z"—l—Bx"e,"'" Yo v Pk
L"—‘( | ” Mo !-hr’“:]l"jx A P R ¢
oy R C fjf’ A aclibr Bxie— 2"+ng¢:,25*4-.,,
s i e L2 Goocl i B R
h Y Rem
S SR ()
uf, - -2 (qu’-}gx 4 Cx ?) e~ gy
[ RN s (dx®s BB Arl pOL) ot il
| = (- 2Ax* 1 (+A%2B) x* S BRE2CIXE +26x)£_
e ul.,“: —2(—2Ax%4 (¥A-28)x33(3B-2c) x* +2(x)/>
B E: +(—8Ax3+(12A éB)y’—+(6B ‘l—c)x+2c)
g 7 So % = (4AxY 4+ (= SA 4 48) x3 4 (6B ytc) x™ —‘{-_klﬁqx
‘ +(—8Ax L(12ZA-UR) x> 4 (bB-% ) x +20) e ~2x

?

= (4 Ax s (~1EA+$B)*+ (12A- 128 44C)x* + (6B=FC)x 4 2 ), -2x y




v :
rdem

— Lyt (=8Ax*3(6A=5B)x* + (4 RoARR ey SCx. F e

—typ

C

L (YAt (=16 A% 4B)* + (12A-126 44O + (LB-F ) x +2 L)) =

) FRPSTER . ;<

-2X

.._H(jA x4 4 4/Bx3+ UL tOM
i | T TN AP oc)e

k= —"—:~>(—3=»e,:~2_x e

AT VRECH AR

3 E —'-QL_— X F2% G N Lo TEREE 00 S —EX
s by

(Zoosx & (=x*) =

[@ Howregencous solin:  v*+ 120 v =04
Y hown = Cy cngoc 4+ (B SRS 0 =

;@ Par-}m, Lu’ 50};&1,, S Faor ANAW IR T
I 3“4&1 = Peasscin J‘%“itj::)(l L 84
| | L1 ye=Ax?4Bxsl ypl=-2A.48
i H’f‘!‘ tf]vd—’ l_yp_?AocfX+Bfihx SR VE Sl OF & % \J pR= A
s WX R RS - 2

I W 0T ST
UF =Axa:s;< 4+ B'XS‘nﬁx SIaw e .. C=2

=y
il -
2 Hal _(TA)@_,’_‘.‘Z_AﬁhX ~Bxsnx 4 2

! Ljfvl: “AXSihX +ALCSX sy )
+ B xeosx + Bsinx ...,‘?',A}Fé)(’rﬁx'sihx—. o
7/ (L;S)(
19p" ==Axcosx — 2 Asin x —2A=0_ 28=2
—Bxsinx 4+ 2 Beos x Aso _B=|

'Y = Xsinx —X%4+2 4 C\cosx + Casinx




1w C

FA

S B s e By

r

\\.Mﬂnmzemmus m\nn

J

: 224 22D
v e 24 E T AR L
1; VERSR 3 z
i ‘ eX(Creosx 4 G sinx )
K
@ Pak—‘-\\c/u\a.r .sn\k-“
X ‘ A ul"Zu'+2u=exCOJX
ud J J J

1

E

E (Am:x+ B-anx\

oy V't
= A rn(x_"tmy

EI1NE

o ; \ 4
W rovn V) SHEVaN

Q

iﬂ, Muﬁi‘o‘l\d b‘j x

Up = A Xe xrp.SX 4 BXZKS\).\'\X ‘/

JI!

-—

’
|

ni =—A xe*sinx + A xe*cos x4+ Ae"m<x

V]
!

+ BXe Xcosx 4 Bxe“sibx 4 BeXsinx |

= (A #B)Xe s x + (A J—B)Xp S (A o X cosx) |

+ (B> /

lye" = (—A+B)xe “carx 4 (~A+B)xe X + (~As B), e . 3

——

+ (A+B) Xix(—sinx) +(A+5)xp"onij,—('A+B)e o

+ (_—;Aﬁ_xshx)_’.\‘_Az_fm.L&_-l—_B‘ﬁw‘x +8¢"s‘\h‘_yit

= 28)(f Xcos X —ZAngSihx +(—2A4ZB) .xs\hx

4 (ZA -l-ZB)ﬁxmsx







) "“"Zu‘-"’fj = —-(ZXﬁ’l)é /’_
= a) Homnapy\nnuc KX \h —
242, 4 1=0 |
(r31)=2=0 ==}
: : ngﬁr.:(‘.f—x“'C?XP’x
!« @ Par“-iajlarso\h

Fir;")g\_»&s;r’-' Un = (Ax—l—B)e"‘ = Axe”‘+ Be_x

b2 s in Lnrh Sn‘h X
PRI

Yp = Ax XA B xe=X

d

¢

l\ P W 'Jétj‘h X
Ml-lp\'t Lq;(

U?-Axse”x-\rsx?' 5 \/
= (Ax33+Bx2)e X

Al(g—}'B,xz’)p"x 4+ (3AX24 2B x )™

~Ax3 4+ (BA-B)x*+2Bx)e~X

(
(Ax3 4+ (-3A4B) x> 4 (-2B)x) o=%

+ (=3Ax*+ ((LA-2B)x +2B) %

= (Ax2 4+ (~6A+B)x 2 PHEASHR) > 4 2R) . - X o3

(Ax? + (~6A+B)x2 + (6A-%4B)x + 2B

| (—2Ax3 & (LA -2B) x> HEEENRS

(Ax3 + Bx?)

-

7 . — 5 p < SN
[ . i &, + 6 AX

j(éAX—}ZB);—X = — 2 R

y=(-z3%xX-z)e" 4 Ce e X




